1.







200 Zoj= % em YU71?

G

L~--9cm--"T

cm



77

. olg} 7
a%gﬂ

o}
ala




,_.__.0_.0

—

_XO
=l
Nlo
N
ald
ol

QY B X 9 o

@D 7



Ale.




o

—

~

- —--

-

e

~N

~

-——-

-

Ve
28 N I |

e N

)

~N

~

- -

-

7

V2 T I |

5

1

3

2

1

0

4.2

42+3



8.

&8 AL
54.36 + 18

>R



QU7

™
|
ol
K
)

Njo

oln

5
— =2
100 g

D 2
@ 10

=10.01

L
100

@ 17.07

3 05

0.51 ¥} &}t

=
T



=0.33

27
700

®

= 0.462
0.92

231
500
§
25

®
®

=4.98

49
0]
12
96

O 4
@1



11. 7FRS2 Yepd of, 227} 7P 22 5 ol AYY7p?

D 0.3 ® 1.25 3 1.05 @ 2.005 ® 3.104



12, eAlS shA L.




13, oh& BAAPER] Hol7t 15] em? U o, ol oA &

“~5cm--
1 1
@ 1?CIH @ 2?0111
(@) 4§cm ® 5§cm

_ L

® 3-cm



14. tYa& AAtsA L.

14-+3+5

113 113 113 113 113
O%% P13 P @Pm 915



)
ﬂ_NO
o

1 4
45 © 1=

@1



16. taa AAtSA L.

1 1
1- 2—
@ 2 @ 2




17.

A 3m 9 A= 9.3kg dY T

= kg A oA L.

a = kg

z

< #7719 A2 53m o FA=



18. the £ HHoIH @of LLE J1HRAE ol AU




19. g F Fol 24 F Ae] 57} obd 2L ol X 124 Q.

® 3.15x0.4

@ 0.005 x 700

@ 236 x0.02

3 1720 % 0.001

® 0.9x%x0.8



20.

. ol E&o]



of o] 7}

A
AL,

o

SF

4= (6] [7L[5 1[04 2
U

WA o §
o S0l 52

S
X
i

21.

2

ol
]




101.74 + 47-& &2 4 2 oA RS9 53 425 AR Zha]of A
HEE- 25 5.0] 2t= dnpelz] kA Q.

B
=¥



A7le] vpe A A2 AL o= AU

(g 30.55
11

(2)55 ©0.36

3) ©0.4375

(3)3¢ :

® ©1)-©12)-603)-09
©B)-9 ®1H-02)-603)-0
©




24.



25. TR F A At OEO E RS BRE N2AQ,

O Ox04 @ x1.6 @ 1.02xO
@ 0.1x0O ® 0.085 x A



